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NEW QUESTION 1
Which statement is true about working with Business Automation Navigator Container? Available Choices (select all choices that are correct)

A. Unlike the traditional Navigator, the Container Navigator cannot be connected to a Business Automation Workflow server.

B. Container based Business Automation Navigator provides limited security capabilities.

C. Container based Business Automation Navigators are packaged by default with the Container based Business Automation Workflow.
D. Container based Business Automation Navigators can connect to Business Automation Workflow when using the same LDAP.

Answer: D

NEW QUESTION 2
How can the input value of a service flow be configured using the Sen/ice Call coach view? Available Choices (select all choices that are correct)

A. The Input value configuration option must be bound to a variable of the same type.
B. The "Map input data automatically' configuration option must be selected.

C. The Input value formula option must be populated with an appropriate variable map.
D. The coach view must be bound to a variable of the same type.

Answer: A

NEW QUESTION 3
In OpenShift Container Platform, what is the smallest compute unit that can be defined, deployed, and managed?

A. Image

B. Project

C. Pod

D. ReplicaSet

Answer: C

NEW QUESTION 4
Which statement describes User Management Service Teams?

A. An option to perform authorization on behalf of the apps and components

B. A company-wide API tool that manages business-oriented user KPIs

C. A company-wide user registry with many groups

D. A collection of users, groups, and other teams to administer global units across different Cloud Pak components

Answer: D

NEW QUESTION 5
Which two tasks does a user have access to in the Process Portal? (Choose two.) Available Choices (select all choices that are correct)

A. Tasks for which the user is an expert.

B. Tasks that are assigned to another member of a team of which the user is also a member.
C. Tasks assigned to their managing team.

D. Tasks assigned individually to the user.

E. Tasks that are assigned to the teams which the user is not a member.

Answer: BD

NEW QUESTION 6
What is one of the expected outputs of Business Automation Insights event processing?

A. Kafka Topic
B. Summaries
C. Raw events
D. Dedicated Flink job

Answer: A

NEW QUESTION 7

Which tool can be used to migrate workflow definitions and workflow system component queues?
Available Choices (select all choices that are correct)

A. Process Administrator

B. FileNet Deployment Manager

C. Process Task Manager

D. Process Configuration Console

Answer: B

NEW QUESTION 8
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Which is a good design practice for Business Automation Workflow? Available Choices (select all choices that are correct)

A. Turn off auto tracking whenever possible.

B. Accessing the product tables using SQL such as "LSW Task" is encouraged within theProcess App since it performs better than the API's.

C. Business objects bound to a coach can be large as long as the number of elements on the coach stay below 40 fields.D- Since the process variables are not
frequently updated, it is fine to have large business objects on the Process variables level.

Answer: B

NEW QUESTION 9
What type of modeling artifact is needed in the red box in the process diagram below to ensure that the process can either flow through Task 2, Task 3, or both?

> Task 2

\_,/’ > Task 1 o Task 4 "O
Start End

- Task 3

A. Event Gateway

B. Parallel Gateway
C. Inclusive Gateway
D. Exclusive Gateway

Answer: C

NEW QUESTION 10
Why should a security proxy hierarchy be created in Case Builder? Available Choices (select all choices that are correct)

A. To reuse case types between business units without sharing case data.

B. To dynamically change security on cases as the cases change stale

C. To ensure that users can dynamically access documents filed in case folders.
D. To avoid having to rely on the Security Configuration to handle case security.

Answer: B

NEW QUESTION 10
How can a server that is already configured for use in other applications or toolkits be reused in a process application?
Available Choices (select all choices that are correct)

A. Clone the server configuration to the process application.

B. Run the 3PMServerimporcConfig command.

C. Server configurations cannot be reused, they must be reconfigured for each process application or toolkit.
D. Import the server configuration in the Servers' section of the Process App_ settings.

Answer: D

NEW QUESTION 12
Whichis a required property of the IBM BPM Document type? Available Choices (select all choices that are correct)

A. I1BM BPM Document DocumentID

B. IBM BPM Document FileNameURL

C. IBM BPM Document Processlnstanceld
D. IBM BPM Document FileType

Answer: A

NEW QUESTION 17

What is the minimum system configuration that is needed for a developer to run playbacks? Available Choices (select all choices that are correct)

A. One Workflow Server instance as development environment connected to the Workflow Center.

B. Depending on whether the Business Automation Workflow is on premise or on cloud, the developers may need a local Workflow Server instance on their
machine or on the cloud.

C. A Workflow Center with no Workflow Servers created.

D. A local Workflow Server instance on their machine connected to the Workflow Center.

Answer: D
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NEW QUESTION 22
In the Process Inspector, what is the state of a manual activity has no precondition or it has a precondition that is evaluated to true?
Available Choices (select all choices that are correct)

A. WAITING

B. COMPLETED
C. READY

D. WORKING

Answer: C

NEW QUESTION 26
Which option should a developer use to ensure a message event with an attached UCA will trigger even if the message event is not yet reached?
Available Choices (select all choices that are correct)

A. Repeatable

B. Interrupt

C. Consume Message
D. Durable Subscription

Answer: D

NEW QUESTION 29
What can be used to extract entities, keywords, and relations features from documents?

A. Knowledge Catalog

B. Natural Language Understanding
C. Watson Studio

D. Watson Explorer

Answer: B

NEW QUESTION 30
What permission is needed to install case solution snapshots onto the workflow servers? Available Choices (select all choices that are correct)

A. tw_author
B. bawadmin
C. bpmadmin
D. caseadmin

Answer: B

NEW QUESTION 34
For REST API authorization roles, which role allows users who can work on and reassign tasks assigned to members of the managed team?
Available Choices (select all choices that are correct)

A. Task owner

B. Manager team of task team
C. Instance owners

D. Task collaborator

Answer: B

NEW QUESTION 38

When a JavaScript error has occurred on a page developed in Business Automation Workflow, where should a developer view this error?
Available Choices (select all choices that are correct)

A. Process Admin console

B. Web browser console

C. Server logs

D. Process Inspector

Answer: B

NEW QUESTION 43

How can the Service Call be configured to automatically run when a coach starts? Available Choices (select all choices that are correct)
A. Enable the 'Auto run' configuration option.

B. Enable the 'React to input changes' configuration option.

C. Nothing is required as the Service Call will always automatically run unless it is disabled.

D. Bind the Input value configuration option to a variable.

Answer: B

NEW QUESTION 44
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